o HZe] BRAE ek 2

ToHA 2
(%91 © kg)

758 604 295 17.6 66.2

> E: kg
> HE 499kg

(75.8 +60.4 + 29.5 4+ 17.6 + 66.2) + 5 = 49.9( kg)
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(FFE AYE A2 0] )= 7

- 1_ 7 1
(FoHE AL A= - =
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ARhE 7 ARl Bt 8004 5827 AL, vl e JF Aol Bt 40
AR

A
) (e}
N 20427 AL, F-2 9F AR B 110 704 6447 55Ut
A= SF 7ol 300

A, vj= g Al 400 94,
AN T I T B2 L Aukly 7
= 9
> ZE 638000

~&B

=2 3t 7] 300

(AFF Zh)= 80 x 5 x 300 = 120000 ()
(B ZX)= 40 x 20 x 400 = 320000 (¥
(& 75)= 110 x 6 x 300 = 198000 (¢

)
)
A} 120000 + 320000 + 198000 = 638000 44 T
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UTHA T =2 nF dukelyrt?
> = 2
D Pl

S 7ol 14094

LA

(Z9 F M) = (Bt)x (A )
=90x 7=630(71),

(2] Bl F9) = (B9] 5 AA%)x (1749 712

=630 x 140 = 88200(Y)
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16. 214, A5F, 2%, WA 4xzte] BEA o] Bl 41.6kg L]
o] BRA} 38.2kgo W 5 AT BEA L] B Atz

> E: kg

> HE ! 4092kg

(4 rEe] B89 3h=41.6 x 4 = 166.4( kg),
(5AF EFA9] B)= (1664 +382) + 5
= 40.92(kg)




17. thg EolA @ uheol A Agke 2 37l

e DO 0| @ @ @ B

1 4=(9) | 475 | 655 | 549 | 475 618 | 546

_|:|_
|oH,

(AA AT )= (Bh)x (=2 )

= 546 x 6 = 3276 (§)

(@ mH= I+ )

= 3276 — (475 + 655 + 549 + 475 + 618)
= 3276 — 2772 = 504 (§)
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ol okubA] A2 & 5 GA H&Hieh vl AgtEo] o]
shel m2 A AU

|m9

Ao] Fg 15x 9 o2kl o,
15x 9+ (15-9) = 22.5 — 23 (¥)
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